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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Elementary Mechanics 

   

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-01 

                                                                                                                                   DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

   

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 laj{k.k ds fl)kUr D;k gS\ dk;Z dh vfHk/kkj.kk dh O;k[;k dhft;sA dk;Z&ÅtkZ izes; crkb;s rFkk 

fl) dhft;sA  
Q.No. 1:  What conservation laws? Explain concept of work state and prove work energy theorem.  

6 

iz'u&2 U;wVu ds xq#Rokd"kZ.k ds fu;e ls dsiyj ds mixzgh; xfr ds fu;ekas dk fuxeu dhft,A  

Q.No. 2  Derive Keplar’s law of planetary motion from Newton’s law of gravitation.       

 

6 

 

iz'u&3 ,d Bksl xksys dk tM+Ro vk?kw.kZ ¼v½ C;kl ds ifjr% rFkk ¼c½ Li’kZ js[kk ds ifjr% fudkfy;sA  

Q.No. 3 : Calculate moment of inertia of a solid sphere about (a) Adiameter (b) a Tangent  

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 ,d 6-0 fdxzk dh xkM+h fpdus ry ij 9-0 eh-@ls- dh xfr ls xfreku gSA ;fn ,d 12-0 

fdxzk- dk iSdsV xkM+h esa Å/okZ/kj fxjk;k tkrk gS rks vc xkM+h dh xfr crkb;s 

Q.No. 4 : A 6.0  cart is moving on a smooth surface at a speed of 9.0 m/s. When a 12.0 kg. 

package is dropped into it vertically. Determine subsequent motion of cart.       

3 

iz'u&5 Hkw&d{kh; mixzg ls vki D;k le>rs gSa\ O;k[;k dhft;sA  

Q.No. 5 : What do you mean by Geo- stationary satellite explain.  

3 

iz'u&6 ,d 16-0 fdxzk- nzO;eku rFkk 20 lseh- f=T;k dk Bksl osyukdkj ¶ykbZ&Cghy 5-0 

pDdj@lsds.M yxkrk gSA bldh xfrt ÅtkZ  rFkk ladsx fudkfy;sA  

Q.No. 6 : A solid cylindrical fly wheel of  mass 16 kg. and radius 20 cm making 5.0 revolution / 

second. Find  kinetic energy and moment.    

3 

iz'u&7 fn[kkb;sA ;fn okg~;cy 'kwU; gS rks js[kh; laosx lajf{kr gksxkA  

Q.No. 7 : Show that if external force is zero, then linear moment will be conserved.  

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Oscillation and Waves 

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-03 

                                                                                                                                        DeefOekeâlece Debkeâ  :  30   

 Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

 [k.M v 

 Section-A 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 fylktq vkd`fr;ksa ls vki D;k le>rs gS\ nks yEcor~ ljy vkorZ xfr;ksa ftuds vkorZ dky 

vuqikr 1%2 gS] ifj.kkeh fudkfy;sA  
Q.No. 1:  What do you mean by Lissjoy figuses? Calculate the resultant of two rectangular S.H.M s 

whose periods are in the ratio 1:2.   

6 

iz'u&2 fdlh izR;korhZ /kkjk ifjiFk esa 'kfDRk xq.kkad rFkk {kerk xq.kkad dh x.kuk dhft;sA 

Q.No. 2  Calculate power factor and quality factor in an A.C. circuit.       

6 

 

iz'u&3 izdk’k ds C;frdj.k ls vki D;k le>rs gSa\ nks rjaxksa ds C;frdj.k ds fy, ;aXl ds iz;ksx dh 

O;k[;k dhft;sA  

Q.No. 3 : What do you mean by Pneter Fersence of light? Describe Young’s experiment fo 

interference of two waves.   

6 

 

 

[k.M c 

Section –B  

      vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 ,d Bksl ftldk ?kuRo 6-5 ×10
3
 fdxzk-@eh

3 
rFkk ;aXl izR;kLFkk xq.kkad 8-0× 10

10
 

U;wVu@ehVj
2
 gSA ;g Bksl 600 g~VZt vko`fRr ds vuqnS/;Z rjax dh rjax nS/;Z fudkfy;sA  

Q.No. 4 : Calculate the wavelength of longitudinal waves of frenquecy 600hz in a solid whose 

density is 6.5 ×10
3
 kg/m

3
 and young’s modulus 8.0× 10

10
 Newton/ meter

2
.        

3 

iz'u&5 ykxznfed {k; ifjHkkf"kr dhft;s rFkk blds fy;s C;atd fudkfy;sA  

Q.No. 5 : Define Longarithinic decrement and find expression for it.   

3 

iz'u&6 ,d leku vuqizLFk dkV ds U vkdkj ds ikbi esa 25 lseh- rd ikuh Hkjk gSA ;fn ikbi dh 

,d Hkqtk esa ikuh dks nokdj NksM+ fn;k tk; rks ikuh dh xfr dk vkorZdky fudkfy;sA  

Q.No. 6 : A vertical U tube of uniform croos section contain water upto 25cm. Calculate time 

period if water on one limb of the tube is depressed and the released.   

3 

iz'u&7 ;fn ,d ljy vkorZ rjax ,d ek/;e esa izokfgr gksrh gSA ;fn fdlh {k.k d.k dk foLFkkiu 

¼lseh- eas½ ℽ = 10 sin
𝑠ℎ𝑎

100
(3600𝑡 − 20) ;k gS rks d.k ds dEiUUk dk vk;ke] rjax osx] rjax nS/;Z] 

vko`fRr rFkk vkorZdky dh x.kuk dhft;sA  

Q.No. 7 : When a simple harmonic wave is propogated through a medium, the displacement of a 

particle (in cm) at any instant of time is given by ℽ = 10 sin
𝑠ℎ𝑎

100
(3600𝑡 − 20) calculate the 

amplitude of vibration wave velcocity, wavelength, frequency and time –period.   

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

                                                                                                                                             

                                                                                                                                                DeefOekeâlece Debkeâ  :  30     

                                                                                                   Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

 [k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 xk¡l izes; crkb;s RkFkk fl) dhft;sA bl izes; dk iz;ksx djrs gq;s vkosf’kr vuUr pn~nj dh 

otg oS|qr {ks= rhozrk fudkfy;sA   
Q.No. 1:  State and prove crauss theorem. Apply it to find the field strength due to an infinite flate 

sheet of change.  

6 

iz'u&2 inkFkZ ds pqEcdh; xq.kksa ds vk/kkj ij muds izdkj crkb;sA izfrpqEcdh; ds ySfXou fl)kUr dh 

O;k[;k dhft;sA  

Q.No. 2  Clasify the materials on the basis of their magnetic properties. Explain Longevin’s theory 

of diamagnetism.       

 

6 

 

iz'u&3 eSDlosy dk fo|qr pqEcdh; lehdj.k fyf[k;s rFkk bldh lgk;rk ls fuokZr eas fo|qr pqEcdh; 

rjax dk lehdj.k fuxfer dhft;sA   

Q.No. 3 : Write Maxwell’s equation and use it to derive electromagnetic wave equation in free 

space.   

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 foHko dyu dk eku 𝑣 =
10

𝑥2+𝑦2
 gS] tgk¡ V oksYV~l esa rFkk ls-eh- esa gSA dk eku fcUnq ¼2-1½ 

lseh- ij fudkfy;sA  

Q.No. 4 : The potential function is given by 𝑣 =
10

𝑥2+𝑦2
where V  is in volts and x & y are in cm. 

Find the value of gradient of potential V at point (2,1) cm.        

3 

iz'u&5 ,d la/kfj= eas fufgr ÅtkZ ds fy;s O;atd fudkfy;sA  

Q.No. 5 : Derive expression for energy stored in a capacitors.   

3 

iz'u&6 B-H dh lgk;rk ls fgLVsfjfll {k; dh O;k[;k dhft;sA   

Q.No. 6 : Explain Hystersis losss with the help of B-H curve.     

3 

iz'u&7 rhu vkos’k fcUnq fn;s x;s fp= dh rjg O;ofLFkr gSA ;fn q= 1.0 ×10
7  
dwyke rFkk a= 10 

lseh- rks muds vkilh fLFkfrt ÅtkZ dh x.kuk dhft;sA   

Q.No. 7 : Three charges are arranged as given in figure. Calculate their mutual. Potential energy 

if q= 1.0 ×10
7 

coulomb and a= 10cm.  

 

3 

Subject : Seience 

Course Title:Electric and Magnetic Phenomena 

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-04 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Electric Circuits and Electronics 

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-05 

                                                                                                                                        DeefOekeâlece Debkeâ  :  30   

 Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 fdlh ifjiFk esa la/kkfjr C izsjdrRo L rFkk izfrjks/k R Js.kh Øe esa tqM+s gSA ;fn izR;korhZ fo|qr 

okgd rFkk crk vkjksfir fd;k tkrk gS rks fo|qr /kkjk rFkk izfrok/kk ds fy;s O;atd fudkfy;saA   
Q.No. 1:  Derive expression for current and impedance when and alternatin emf is applied to a 

circuit having capacitance C, inductance L and resistance R in series. .  

6 

iz'u&2 buofVZax izo/kZd rFkk uku buofVZax izo/kZd ds foHko ykHk ds fy;s O;atd fudkfy;sA  

Q.No. 2  Derive expression for the voltage gain of an inverting and non inverting application.        

 

6 

 

iz'u&3 cwfy;u izes; dks crkb;s rFkk fl) dhft;sA  

Q.No. 3 : State and prove Boolean theorem of Boolean algebra.  

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 oSdwe V~;wc izo/kZd rFkk VªkaftLVj izo/kZd esa vUrj fyf[k;sA  

Q.No. 4 : Write difference between vaccum tube amplitier and transistor amplifier.        

4 

iz'u&5 O;atd X = AB( C𝐷  + EF)  ds fy;s ykWftd ifjiFk cukb;sA   

Q.No. 5 : Draw the logic circuits that impliments the expression X = AB( C𝐷  + EF)  

4 

iz'u&6 eYVhehVj ls vki D;k le>rs gSa\ ;g dSls dk;Z djrk gSA bldk vuqiz;ksx D;k gSA  

Q.No. 6 : What do you mean by multimeter? How does it works? Write it’s applications.     

4 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Thermodynamics & Statistical Mechanics 

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-06 

                                                                                                                                        DeefOekeâlece Debkeâ  :  30   

 Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 fdlh fudk; dh vkUrfjd ÅtkZ ls vki D;k le>rs gSa\ Å"ekxfrdh dk izFke fu;e fyf[k, rFkk 

bldh lgk;rk ls vk;ru (dv)] rki (dT) rFkk m"ek (ds) ifjorZuksa ds chp lEcU/k dhft,A    
Q.No. 1:  What do you understand by the interanal energy of a system? State first law of a relation 

between the change in valume (dv), temperatre (dT) and heat (ds).   

6 

iz'u&2 fofHkUu Å"ekxfrdh foHkoksa dh ifjHkk"kk nhft, rFkk mudh lgk;rk ls eSDlosy ds Å"ekxfrdh 

lEcU/kksa dks izkIr dhft,A   

Q.No. 2  Define different thesmodynamical potentials and use them to obtain maxwell’s 

thermodynacmical relations.   

6 

iz'u&3 n’kkZb;s fd ,d xSl dk ';kurk xq.kkad fuEufyf[kr O;atd }kjk fd;k tkrk gSA 𝑛 =
1

3
𝜌𝑐  𝜆 ;gk¡ 

𝜌𝑐   rFkk 𝜆 Øe’k% ?kuRo] vkSlr pky rFkk vkSlr eqDRk ikFk gSA 𝑛 dh nkc o rki ij fuHkZjrk dh foospuk 

dhft,A   

Q.No. 3 : Show that for a gas the coefficient of visrasity is given by the following expression 𝑛 =
1

3
𝜌𝑐  𝜆  here 𝜌𝑐   and 𝜆 are density, mean speed and mean free path respectively. Discuss the 

dependence of  n and pressure and temperance.   

6 

 

 

[k.M c 

Section –B  

 

      vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 Å"ekxfrdh ds 'kwU; fu;e dk dFku dhft,A blls rki dh ladYiuk dSls feyrh gSA 

Q.No. 4 : State zeroth law of thermodynamics. How does it lead to the concept of temperature.         

4 

iz'u&5 dkuksZ izes; dk dFkuk dhft, rFkk mls fl) dhft,A    

Q.No. 5 : State and prove Carnot’s theorem.   

4 

iz'u&6 eSDlosy&cksYteSu] QehZ&fMjkd rFkk ckslq&vkbUlVkbu lkaf[;dh esa D;k vUrj gksrs gSa\  

Q.No. 6 : What are the differences between Maxwell Boltzman, Fermi-Dirae and Bose-Einstein 

statistics.?      

4 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Optics 

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-07 

                                                                                                                                        DeefOekeâlece Debkeâ  :  30   

 Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 fudky fizTe dh jpuk dk o.kZu dhft, vkSj crkb;s fd bldks /kzqod vkSj fo’ys"kd dh rjg fdl 

izdkj mi;ksx dj ldrs gSaA  
Q.No. 1:  Describe the construction of a Nicol Prism and explain how it can be used as polarizer and 

as analyzer.  

6 

iz'u&2 ijofrZr izdk’k esa U;wVu oy;ksa ds fuekZ.k dh O;k[;k dhft,A U;wVu oy; iz;ksx esa fl) dhft, 

dh vnhIr fÝtksa dh f=T;k;sa LokHkkfod la[;kvksa ds oxZewy rFkk nhfIr fÝtksa dh f=T;k;sa fo"ke la[;kvksa 

ds oxZewy ds lekuqikrh gksrs gSaA    

Q.No. 2  Explain the formation of Newton’s Ring in reflected light. Prove that in Newton’s Rings 

experiment the reading dark fringes are proportional to the those of bright fringes and proportional 

to the square root of the odd national numbers.    

6 

iz'u&3 ÝkmugksQj rFkk ÝsLusy foorZu esa vUrj le>kb, ,d fLyV }kjk izkIr ÝkmugksQj foorZu 

izfr#iksa dh oS’ysf"kd fof/k ls izkIr dhft,A    

Q.No. 3 : Distinguish between Fraunhofer and Fresnel class of diffraction. Give the analytical 

treatment of Fraumhfer diffracton paterms obtain from a single slit.    

6 

 

 

[k.M c 

Section –B  

 

      vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 ekbdsylu O;frdj.kekih dh jpuk ,oa fl)kUr dk o.kZu dhft,A  

Q.No. 4 : Describe the construction and working of Michelson interferometer.          

4 

iz'u&5 foHksn lhek dh jSys dlkSVh D;k gS\ fizTe ds foHksnu {kerk ds fy, O;atd izkIr dhft,A     

Q.No. 5 : What is the Rayleigh criterion for the limit of resolution. Obtain expression for the 

resolving power of prism.    

4 

iz'u&6 izdkf’kd gksyksxzke ds vfHkys[k vkSj iqufuZek.k dk o.kZu dhft,A fdl izdkj ls mPp foHksnu izkIr 

fd;k tkrk gS\ gksyksxzkQh ds dqN mi;ksxksa dh foospuk dhft,A   

Q.No. 6 : Describe the recording and reconstruction of optical holograms. How is high resolution 

obtained? Discuss some uses of holography?       

4 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Modern Physics 

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-08 

                                                                                                                                        DeefOekeâlece Debkeâ  :  30   

 Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 fof’k"V vkisf{kdrk fl)kUr ds ewyHkwr vfHkxzghrksa dk o.kZu dhft,A vkbUlVkbu dk osx ;ksx fu;e 

O;qRiUu dhft,A     
Q.No. 1:  State the fundamental postulates of the special theory of relativity. Derive Finstein’s 

velority addition law.    

6 

iz'u&2 nzO;eku m okys eqDr d.k ds fy, dky vkfJr Jks;fMaxj lehdj.k dks izkIr dhft,A rjax Qyu 

dh HkkSfrd lkFkZdrk dh foospuk dhft,A    

Q.No. 2  Obtain the time dependent one dimensional Schrödinger equation for a free particle of mass 

m. Discuss the physical significance of the wave function.    

6 

iz'u&3 ,Dl&fdj.kksa ij ekslys ds dk;ksZ dk o.kZu dhft,A ekslys fu;e D;k gS\ bldh egRrk crkb,A    

Q.No. 3 : Describe Moseley’s work an x-rays what is Moseley’s law? Give its importance.    

6 

 

 

[k.M c 

Section –B  

 

      vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 dykosx vkSj lewgosx dks ifjHkkf"kr dhft, rFkk mueas lEcU/k LFkkfir dhft,A  

Q.No. 4 : Define phase velocity and group velocity of woves and obtain relationship between them.          

4 

iz'u&5 jsfM;ks,fDVo inkFkZ dh v/kZvk;q ls vki D;k le>rs gSa\ v/kZvk;q rFkk {k;&fu;rkad ds chp lEcU/k 

LFkkfir dhft,A     

Q.No. 5 : What is meat by the half life of radioactive substance? Establish a relation between the 

half life time and decay constant.    

4 

iz'u&6 ukfHkd ds nzo&cw¡n ekWMy dk o.kZu dhft, vkSj n’kkbZ;s fd ;g fdl izdkj ukfHkdh; fo[k.Mu dks 

le>krk gSA   

Q.No. 6 : Describe the liquid drop model for the nucleus and show how does it explain nuclear 

fission.       

4 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Mathematical Methods in Physics - I 

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-09 

                                                                                                                                        DeefOekeâlece Debkeâ  :  30   

 Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 fn[kkb;s fd ∆2  
𝑥

𝑟3  = 0 tgk¡ r fLFkfr lfn’k 𝑟 = 𝑥𝑖 + 𝑦𝑗 +   𝑧𝑘 .  dk ifj.kke gSA      

Q.No. 1:  Show that ∆2  
𝑥

𝑟3  = 0, wherer r is the magnitude of position vector 𝑟 = 𝑥𝑖 + 𝑦𝑗 +   𝑧𝑘 .    

6 

iz'u&2 xk¡l MkbotsZal izes; crkb;s rFkk fl) dhft;sA     

Q.No. 2  State and prove Gauss divergence Theorem.     

6 

iz'u&3 ,d euq"; ds y{; Hksnus dh izkFkfedrk 1@3 gSA ¼v½ ;fn og 5 ckj iz;kl djs rks y{; dks de 

ls de 2 ckj Hksnus dh izkFkfedrk D;k gksxhA ¼c½ mls fdruh ckj iz;kl djuh pkfg, fd de ls de ,d 

mlds y{; Hksnus dh izkFkfedrk 90izfr’kr ls T;kn gks\ fcUnq ¼2]1]1½ij 𝑑𝑖𝑣 𝑣  rFkk 𝑐𝑢𝑟𝑙 𝑣  fudkfy;s 

tgk¡ 𝑣   𝑥𝑦𝑧 𝛿 +   3𝑥2𝑦 𝑗 +   𝑥𝑧2 − 𝑦2𝑧 𝑘  gSA  
Q.No. 3 : The probability of a man hitting a target is 1/3. (a) If he first 5 times what is the probability 

of his hitting the target at least twice? (b) How many times must he fire so that the probability of his 

hitting the target at least once is more than 90%? Find divergence and curl of  𝑣   𝑥𝑦𝑧 𝛿 +

  3𝑥2𝑦 𝑗 +   𝑥𝑧2 − 𝑦2𝑧 𝑘  at  (2,1,1). 

6 

 

 

[k.M c 

Section –B  

 

      vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 LVksDl izes; dk iz;ksx djrs gq,    2x − y  dx − yz2dy − y2zdz dh x.kuk dhft, tgk¡ C  ,d 

o`Rr x
2
+y

2
 = 1 ,dkad f=T;k ds xksys dk {ks=Qy gSA   

Q.No. 4 : Using Stoke’s theorm evaluate    2x − y  dx − yz2dy − y2zdz  where C is the circle 

x
2
+y

2
 = 1, corresponding to the surface of sphere of unit radius.           

4 

iz'u&5 lkekU; balku esa vkSlru 20 yky df.kdk ,d fuf’pr vk;ru esa ik;h tkrh gSA lkekU; balku ds 

uewus esa 15 yky df.kdk ik;s tkus dh izkf;drk crkb;sA      

Q.No. 5 : On an overage of 20 red blood cells are found ink a fixed of blood for a normal person. 

Determine the probability that the blood sample of normal person will contain less than 15 red cells.     

4 

iz'u&6 ;fn ,d cy 𝐹 =  2𝑥2𝑦𝑖 + 3𝑥𝑦𝑗   ,d d.k dks ry esa odz ij fcUnq ¼0]0½ ls fcUnq ¼1]4½ ij 

LFkkukUrfjr dj nsrk gS rks fd;s x;s dk;Z dh x.kuk dhft,A   

Q.No. 6 : If a force 𝐹 =  2𝑥2𝑦𝑖 + 3𝑥𝑦𝑗   displaces a particle in the x-y plane from (0,0) to (1,4) along 

a curve y= 4𝑥2. 

4 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Mathematical Methods in Physics - II 

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-10 

                                                                                                                                        DeefOekeâlece Debkeâ  :  30   

 Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 cjukSyh lehdj.k fyf[k;s rFkk fuEufyf[kr vodyu lehdj.k gy dhft;sA (1+y
2
) dx = (tem

-1
 

y-x) dy 
Q.No. 1:  Write Bernoulli’s equation and solve following differential equation (1+y

2
) dx = (tem

-1
 y-

x) dy.     

6 

iz'u&2 fdlh fo|qr ifjiFk esa izfrjks/k R rFkk C /kkfjrk dk la/kkfj= Js.kh Øe esa tqM+k gSA fo|qr /kkjk ds 

inksa esa fo|qrokgd cy dk lehdj.k 𝐸 = 𝑅𝛿0  
𝛿0

𝑐
 𝑑𝑡 gSA fdlh le; ij fo|qr /kkjk dk eku fudkfy;s 

tcfd E = E0 Sin wt gSA      

Q.No. 2  The equation of electromotive force in terms of current i for an electrical circuit having 

resitance R and a capacitance of capacity C, in series is 𝐸 = 𝑅𝛿0  
𝛿0

𝑐
 𝑑𝑡 find the current  at any 

time t, when E = E0 Sin wt.      

6 

iz'u&3 'kj vkorZ ds vkorhZ Qyu f(x) ds fy, Qwfj;j Js.kh fyf[k;s tgk¡ f(x)= x
2
; -𝜋 ≤ 𝑥 ≤ 𝜋 vRk% 

fuEu Js.kh dk ;ksx fudkfy;sA  
1

12 +
1

22 +
1

32 +
1

42 −−−−−− −. 

Q.No. 3 : Find the Fourier series Expansion of the Periodic function 2𝜋of period. f(x)= x
2
;                

-𝜋 ≤ 𝑥 ≤ 𝜋 Hence find the sum of series 
1

12 +
1

22 +
1

32 +
1

42 −− −−−−−.  

6 

 

 

[k.M c 

Section –B  

 

      vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 fuEufyf[kr dks gy dhft,&  

Q.No. 4 : Solve the following Partial different equation.  

3 

iz'u&5 fuEufyf[kr dks gy dhft,& 
d2y

dx 2
= 2(y3 + y) tc fd izkjafHkd fLFkfr;ka x = 0 on y = 0,

dy

dx
=

1 gSA  

Q.No. 5 : Solve the following Partial different equation. 
d2y

dx 2
= 2(y3 + y) under conditional x =

0 on y = 0,
dy

dx
= 1 when x = 0      

3 

iz'u&6 fuEufyf[kr vodyu lehdj.k dks gy dhft;sA  

𝑑𝑦

𝑑𝑥
=  

𝑥3 + 𝑦3

𝑥𝑦2
 

 

 

3 
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Q.No. 6 : Solve the following differential equation.  
𝑑𝑦

𝑑𝑥
=  

𝑥3 + 𝑦3

𝑥𝑦2
 

iz'u&7 Qwfj;j v/kZJs.kh ds fy;s Parseval dk fu;e crkb;s rFkk fl) dhft;sA  

Q.No. 7 : State and prove Parseval’s formula for Fourier Half Series.   

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Quantum Mechanics: Approximation    
                          Methods &Perturbation Theory 

 

                                     Suject Code :       BSC 

                                        Course Code  UGPHS-11 

                                                                                                                      

                                    DeefOekeâlece Debkeâ  :  30     

                                                                                                    Maximum Marks:  30 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory. 

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

 

iz'u&1 rjax foKku dh ifjdYiuk D;k gS\ rjax Qyu dk HkkSfrd egRo crkb;sA FkzksfMtj 

lehdj.k dk fuxeu dhft;sA   
Q.No. 1:  What are postulates of wave mechanics. Give physical significance of wave 

function. Derive Schrodinger wave equation.     

6 

iz'u&2 fuf’pr oxkZdkj foHko dwi iz’u dks Dok.Ve esdsfuDLk }kjk gy dhft;s rFkk ?kuRo 

izkFkfedrk vkSj vk;ke rjax fn[kkrs gq;s fp= cukb;sA  

Q.No. 2  Solve quantum mechanically the problem of a pasticle in finite sequence potential 

well. Draw diagrams showing the amplitude wave and probability density for the same.  

6 

 

iz'u&3 M~;wVªku ds fy;s FkzksfMtaj lehdj.k fyf[k;s RkFkk bls gy dhft;sA   

Q.No. 3 : Setup Schrodinger equation for deuteron and solve it.   

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 ,d izksVªku dh xfrt ÅtkZ fudkfy;s ftldk Mh&ozkXyh rax nS/;Z 1fm gSA  

Q.No. 4 : Find kinetic energy of a proton whose de-broglie wave length is 1fm.   

3 

iz'u&5 vuZQsLV izes; crkb;s rFkk fl) dhft;sA  

Q.No. 5 : State and prove Eherntest’s theorem.    
 

3 

iz'u&6 fdlh L pkSM+kbZ ds fMCcs esa cUn d.k dh fLFkfr dk ,DlisDVslu eku <x> fudkfy;sA    

Q.No. 6 : Find expectation value <x> of the position of a pasticle trapped in box of width L.      

3 

iz'u&7 fl) dhft,A    𝜍2, 𝜍𝑥  = 0  

Q.No. 7 :  Prove that          𝜍2, 𝜍𝑥 = 0 
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Microsoft Office and Internet 

 

                                     Suject Code :       BSC 

                                        Course Code  UGSSC-01 

                                                                                                                                                      DeefOekeâlece Debkeâ  :  30   

                                                                                                                                     Maximum Marks:  30 
 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 

Answer all questions. All questions are compulsory.  
   

1 Write the steps for staring the heights of 10 students of a class in an excel 
worksheet. Also write the steps for sorting this data in ascending order of height. 
Calculating the average height and the standard deviation using formulas in excel.  

fdlh d{kk ds fdUgha 10 Nk=ksa dh ÅWapkbZ dks ,d ,Dly odZ”khV esa laxzghr djus ds 

pj.kksa dks fy[ksaA ,Dly fof/k dk bLrseky djrs gq, bl MsVk dks ÅWapkbZ ds vkjksgh Øe 

esa fy[kus] vkSlr ÅWapkbZ fudkyus rFkk ekud fopyu fudkyus ds pj.kksa dk Hkh mYys[k 

djsaA  

2 Explain how the following tasks are done in MS-WORD: 
1 Creating document template.  
2 Finding and replacing some test. 
3 Paragraph setting.  

,e,l& oMZ esa fuEufyf[kr dk;ksZa dks djus ds pj.kksa dk o.kZu djsa% 

1 Document template cukukA 

2 fdlh VsDLV dks <wWa<uk ,oa cnyukA 

3 iSjkxzkQ lsV djukA 

3 Explain the views in power point. Write the steps for creating graphs, tables and 
making charts in power point.  

ikoj IokbaV esa oho D;k gksrk gS\ o.kZu djsaA ikoj IokbaV esa xzkQ] Vscy rFkk pkVZ cukus 

ds pj.kksa dk mYys[k djsaA 

              

[k.M & *c* 

Section ‘B’ 
veesš  :  ueIeg GòejerÙe ØeMve ~ ØeMveeW kesâ Gòej 150 mes 250 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Short Answer Questions. Answer should be given in 150 to 250 words. All 
questions are compulsory.  

4 Write a note on the Internet.  
bUVjusV ds Åij ,d uksV fy[ksaA 

5 Briefly explain the file transfer protocol (FTP) 
Qkby VªkUlQj izksVksdky dks la{ksi esa crk,aA 

vf/kdre vad  % 12 

Maximum Mark  : 12 
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6 Explain what is telnet.  
VsyusV D;k gS\ o.kZu djsaA 

7 What is a browser? List some of the commonly used browsers.  
czkmtj D;k gS\ izk;% bLrseky gksus okys czkmtjksa esa ls dqN ds uke crk,WaA 

8 Write a short note on Usenet & Newsgroup.  
Usenet rFkk Newsgroup ij ,d laf{kIr uksV fy[ksaA 

9 List the basic elements and parts of a window.  
foaMks ds ewyHkwr rRoksa ,oa Hkkxksa dk mYys[k djsaA  
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

 

                                                                                                                                                      DeefOekeâlece Debkeâ  :  30   

                                                                                                                                     Maximum Marks:  30 
 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

 
1.    Write short notes on the following:  

       (a) Minimum Spanning Tree  

       (b) Indexed File Organization  

2.    Write a C program to read the contents of a file and store it in another file.  

3.    Write a C Program to implement Bubble Sort.  

                                      [k.M c                             vf/kdre vad % 12 

                                                                Section- B                                          Maximum Marks: 12 
 

4.    Calculate the sum of first hundred natural numbers using recursion.  

5.    List the difference between a structure and a union.  

6.    Explain Breadth First Search algorithm for graph traversal.  

7.    Discuss the implementation of lists using pointers.  

 

 
 

 
 
 

 
 
 

 
 

 
 
 

 
 

Subject : Seience 

Course Title:    Problem Solving and Programming     
                       through C 

 

                                     Suject Code :       BSC 

                                        Course Code  UGSSC-06 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Computer Network & Security Maintenance 

 

                                Suject Code :       BSC 

                              Course Code  UGSSC-08 

  

 

                                                                                                                                                      DeefOekeâlece Debkeâ  :  30   

                                                                                                                                     Maximum Marks:  30 
 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

1 What do you understand by network topology? Explain different types of network topologies.    

usVodZ lkafLFkfr ls vki D;k le>rs gSa\ usVodZ lkafLFkfr ds fofHkUu izdkjksa dk o.kZu djsaA  

2 What is Ethernet? Explain the configuration of Ethernet and the Ethernet frames.  

bZFkjusV D;k gS\ bZFkjusV foU;kl rFkk bZFkjusV QkeZ dk o.kZu djsaA 

3 Explain the following terms in relation to network management -  
i      Quality of service analysis. 
ii     Propagation delay 
iii    Response Time 
iv   Throughput  

usVodZ izca/ku ds lUnHkZ esa fuEufyf[kr dh O;k[;k djsa &  

  

                                                           Section – B 
           KeC[ - ye   DeefOekeâlece Debkeâ     :  12 

     Maximum Marks:  12 
4 What is the difference between connection oriented and connection less transmission. Also 

differentiate between synchronous and asynchronous transmissions.  
dusD”ku vfHkfoU;Lr rFkk dusD”ku jfgr izlkj.k esa D;k vUrj gS\ rqY;dkfud rFkk vrqU;dkfyd 

izlkj.k ds vUrj dks Hkh crk,WaA 

5 What is a firewall? Differentiate between packet filter firewall and peeory firewall.  
firewall D;k gS\ packet filter firewall rFkk peeory firewall esa vUrj crk,WaA 

6 Explain how a virtual private network (VPN) works. 
virtual private network (VPN) dSls dke djrk gS\ le>k,WaA  

7 Briefly explain the meehanism of digital signature.  
Digital signature ds ra= dks la{ksi esa le>k,WaA 

8 Write short notes on the following : 
fuEufyf[kr ij laf{kIr fVIi.kh fy[ksa % 

i  Telnet 
ii  ISP 

9 List the different internet working devices.  
internet working esa iz;qDr gksus okyh fofHkUu midj.kksa dk mYys[k djsaA 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: 

 

                                     Suject Code :       BSC 

                                        Course Code  UGSSC-10 

 

                                                                                                                                                      DeefOekeâlece Debkeâ  :  30   

                                                                                                                                     Maximum Marks:  30 
 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

   

1. Give a systematic account of renewable energy sources and related technologies. 
     

2. Discuss the environmental impacts of energy production and its use & misuse. 
 

3.  Suggest some suitable measures for social control of energy production distribution  

     & consumptions.   

 

                                                                     Section – B 

                             KeC[ - c                               DeefOekeâlece Debkeâ :  12 

                          Maximum Marks:  12 
   

      uksV %  y/kq mRrjh; iz’uA vius iz’uksa ds mRrj 200 ls 300 'kCnksa esa fy[kasA lHkh iz’u  vfuok;Z gS 

 Note :  Short Answer Questions. Answer should be given in 200 to 300 words. All 
Questions are compulsory. 
 

4   Point out the difference between reasonable  & non reasonable sours of energy. 

5.  What do you mean by nuclear hazards? Explain. 

6   Point out the major cases of global warmap. 

7.  Cloning up is a necessary condition for greening up of the environment. Explain. 

8.  Illustrate the meaning of removable energy sources. 

/

9.  Assume the impact of deforestation on mountain economy & its environment. 

 

 


